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Geometry Review - Chapter 8
Simplify in radical form
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3-6: Find the values of the variables.  Give your answers in simplest radical form.
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3) 



4) 



5) 



6) 




Find the geometric mean.

7)
6 and 150

8)
28 and 7

9)
1/9 and
 16



10. Find the values of x, y, and z.  


a) 





b) 
For problem 11, refer to the figure below.  Leave answers in simplified radical form.






11) If JM = 6 and MK = 12, find JL



Evaluate each of the following. Round answers to two decimal places.
12) sin 54( ( ___________
13) cos 26( ( __________
14) tan 42( ( _________

Find each missing angle.  Round answers to the nearest tenth. 
15) sin A = 0.3158, 
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16) cos B = 0.1271, 
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Find the values of the variables to the nearest degree.


17)




18) 




19) 

a = _________


b = _________


c = ________

20) A seagull, flying at an altitude of 500 meters, finds the angle of depression to a buoy on the Lake Travis to be 60(. Find the diagonal distance from the seagull to the buoy.

21) A glider leaves a cliff 1 km high at an angle of depression of 4(.  How far from the base of the cliff will the glider land in meters? (1 km = 1000 meters)
22) When the sun is 5( above the horizon, how long will the shadow of a 35 ft tree be?
23) 
a. When the sun’s angle of elevation is 31(, my friend Jason has a 10 ft shadow.  How tall is Jason? 

b. When the sun’s angle of elevation has increased by 10(, my shadow is 6’2”.  How tall am I?
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